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S1 thanks S2 for the liaison statement in T-doc S2-000182 where S2 requests clarification of S1’s requirements on push services. 

S1 is happy that S2 discussed this, but S1 asks S2 to study further the following topics.
S2 has already understood S1’s requirement for a realization of push services. The majority of content for push services need to be sent to users in a timely fashion. It is the best time to send these in real time.  Hence, S1 takes it for granted that S2 understands that it is important to send contents for push service to users as soon as possible.
Taking into consideration an actual equipment implementation, S1 considers it is impossible to guarantee the state where millions of users always are active. S1 thinks that many users will not always be in “active”.

On the other hand, the aims of using dynamic IP address are as follows. 

1. Convenient management of IP address

2. Saving of IP address
The convenient management of IP address is needed for both pull services and push services. It is clear that NW need not assign MS IP address before communication. 
Management of static IP addresses is a big problem, because we need registering or deleting within context and MS or Data terminals.   Moreover, GGSN also needs to have tables for static IP addresses. For example, if a subscriber registers for a push service, the configuration in MS remains in undesirable condition unless users try to change the registrations. In the case of changing the registration, users need to set up themselves. This is difficult for the user.  

For the above reasons, S1 requests the use of dynamic IP address for push services because of the convenience, and easier management. S1 would like to realize push services to users that are active and inactive.

S1 requests S2 to add this fourth method to the three methods that S2 already stated.  

